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Question 24 (8 marks) Sample 1 Question 24

TextMore is a global communications business that is facing increased competition.
Management has decided to reduce the size of its factory workforce by 25% but also
employ more information technology (IT) specialists.

(a) Identify the TWO human resource processes that will be used in this situation.
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(b) Explain how TWO human resource strategies could be used to effectively
manage downsizing TextMore’s factory workforce.

M Humanvesouwrct. Sredeges. oald. e wed 3
«ﬂoeﬁr\u\’mwmm/umaf’;fﬂvﬁdmw

...fig.dmm.....:mrl&um.........»NML.....mcwna....mmy’....{m
AN QM(&{»}‘M 028l . M\-f o SR

iy Y YeSouee... Shyedenes  Covled L. used. 3

&Q%ﬁﬂ@‘\w4ﬁpmb&&m
MKM%U)H‘T\’ ‘Wr»fr '.JU?P DO,

;. ]





